Pro Baseball Contract 






Name:
BATTLE OF THE BAY


The San Francisco Giants and the Oakland A’s both want to draft you as their starting pitcher.  They each have an offer on the table that you have to decide between:

· The Oakland A’s will pay you $350,000 per day for the first month (30 days).  Once that month is over, you get no more money and that is your salary for your first year.
· The San Francisco Giants will only pay you for one month (30 days), starting at $0.01 the first day.  The amount you are paid doubles each day for the entire 30 days.  For example, you get $0.01, the next day $0.02, the next day $0.04, the next day $0.08, etc.  Once that month is over, you get no more money and that is your salary for your first year.
Just gut reaction, which team would you play for?
Establish the domain and range for each contract.
Build a table of values.

What type of function is each contract?

Graph functions and choose appropriate units.  Identify the intercept, which function has a greater maximum in the given domain, etc.
Label graphs using function notation (ex: f(x) or g(x))

After calculations:

1. How much time must pass for the contracts to be equal?

2. Which team would you play for?  

3. Which team would give you more money?  

4. Choose which function would represent the contract you chose (please circle):
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